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ENGLISH 
SPOTTING ERROR 

Directions:- Each item in this section has a sentence which is divided into four parts labelled (a), (b), 
(c) and (d). Read each sentence to find out whether there is any error in any part and indicate your 
answer in the Answer Sheet against the corresponding letter i.e., (a) or (b) or (c). If you find no error, 
your response should be indicated as (d). 
1. You (a)/ had better (b)/gone home. (c)/ No error. (d) 

 

2. Until he does not confess (a)/ his fault he will not be (b)/ included in the team. (c)/ No error. (d)  
 

3. If I were told (a)/ I would have (b)/ helped him. (c)/ No error. (d) 
 

4. The old system will be result (a)/ into heavy losses and hence we strongly advocate (b)/ its
replacement with the new system. (c)/ No error (d) 

 

5. Based on the newspaper reports, (a)/ we can conclude that many (b)/ accidents caused by reckless 
driving. (c)/ No error (d) 

 

6. You can imagine (a)/ how annoyed I was when (b)/ I learnt that the match has been postponed. 
(c)/ No error (d) 

 

7. He told me that he couldn’t buy (a)/ the paintings which he wants very much (b)/ because he 
hadn’t enough money. (c)/ No error (d) 

 

8. I first read these rules (a)/ in 1993 and have remembered (b)/ it since ever. (c)/ No error. (d) 
 

9. The amount, which the company has paid (a)/ to the dependents of the dead worker, (b)/ was fairly 
unjustified. (c)/ No error. (d) 

 

10. She was (a)/ direct at (b)/ a fault. (c)/ No error. (d) 
 

FILL IN THE BLANKS 
Directions:- Each of the following sentences in this section has a blank space and four words or group 
of words given after the sentence. Select whichever word or group of words you consider most 
appropriate for the blank space and indicate your response on the Answer Sheet accordingly. 
11. Our publisher generally _____ Hindi but today he _____ English. 

(a) speak, is 
speaking 

(b) spoke, speaking (c) speaks, is 
speaking 

(d) None of these 

 

12. He _____ the intermediate examination. 
(a) passed (b) has passed (c) will pass (d) None of these 

 

13. Had the teacher not come, the students _____ . 
(a) studied (b) would have 

studied 
(c) have studied (d) None of these 

 

14. A pair of shoes _____ in this room. 
(a) were (b) are (c) is (d) None of these 

 

15. Tendulkar is one of the players who _____ been selected for the test. 
(a) has (b) had (c) have (d) None of these 

 

16. No money has been spent, _____? 
(a) Have it ? (b) Hasn't it ? (c) Has it ? (d) None of these 

 

17. Badal dares to go everywhere, _____? 
(a) does not he ? (b) doesn't he ? (c) doesn't him ? (d) None of these 

 

18. The girl told her mother that she was afraid  _____ the dog. 
(a) from (b) with (c) by (d) of 

 

19. He was indignant _____ me. 
(a) at (b) with (c) on (d) None of these 

 

20. He takes pride _____ poetry. 
(a) in (b) of (c) on (d) None of these 

 

21. Everybody should love_______  parents. 
(a) one’s (b) his (c) theirs (d) No improvement 

 



 

Page 3 of 24 

SENTENCE IMPROVEMENT 
Directions:- Look at the underlined part of each sentence. Below each sentence are given three 
possible substitutions for the underlined part. If one of them, (a), (b) or (c), is better than the 
underlined part, indicate your response on the Answer Sheet against the corresponding letter (a), (b) 
or (c). If none of the substitutions improve the sentence, indicate (d) as your response on the Answer 
Sheet. Thus a ‘No improvement’ response will be signified by the letter (d). 
22. The student who always hesitates, which of the two things he will, do first will. Ultimately do 

either. 
(a) do none (b) do neither (c) do nothing (d) No improvement 

 

23. The country found that its economy was growing more stronger 
(a) was growing 

most stronger 
(b) was growing 

more strongly 
(c) was growing 

stronger 
(d) No improvement. 

 

24. He slept in the quite room. 
(a) quietly room (b) quietly room (c) quiet room (d) No improvement. 

 

25. You can do nothing without an experience. 
(a) a experienced (b) the experienced (c) experienced (d) No improvement 

 

26. You are a M.A. in English. 
(a) an M.A. (b) the M.A (c) M.A. (d) No improvement 

 

27. The cutlery should be replaced.  
(a) cutleries (b) many cutleries (c) much cutleries (d) No Improvement 

 

28. Rashi feels that her brother-in-laws are impossible to get along with. 
(a) brothers-in-law (b) brethren-in-laws (c) brothers-in-

laws 
(d) No improvement 

 

29. He was in a crises. 
(a) a crisis (b) a crise (c) a crisises (d) No improvement 

 

 

SYNONYMS 
Directions:- Choose the word from the given options which is nearest in meaning to the underlined 
word . 
30. Every member in the parliament acceeded the minister's proposal. 

(a) Refuted  (b) Conceded  (c) Mocked  (d) Steered  
 

31. The old bungalow appeared very bleak and horrible.  
(a) Gorgeous  (b) Bewitching  (c) Monotonous  (d) Mesmerising  

 

32. The illicit relationship resulted in Mohan's murder.  
(a) Legal  (b) Illegal  (c) Valid  (d) Dull  

 

33.  The grotesque dress of the clown made everyone burst into laughter.  
(a) Colourful  (b) Shabby  (c) Strange  (d) Grubby  

 

34. David's scurrilous language creats dispute everywhere.  
(a) Deferential  (b) Laudatory  (c) Abusive  (d) Respectful  

 

 

ANTONYMS 
Directions:- Choose the word from the given options which is nearest opposite to the word printed in 
bold  letters. 
35. QUIESCENT 

(a) Active (b) Dormant (c) Weak (d) Unconcerned 
 

36. FORTUITOUS 
(a) Undefended (b) Gratuitous (c) Deliberate (d) Impoverished 

 

38. POTENT 
(a)  Inefficient (b) Soft (c)  fragile (d) Weak 

 

39. CURTAIL 
(a) Remain (b) Detain (c) Placate (d) Prolong 
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ORDERING OF WORDS IN A SENTENCE 
Directions:- Each of the following items in this section consists of a sentence the parts of which have 
been jumbled. These parts have been labelled P, Q, R and S. Given below each sentence are four 
sequences namely (a), (b), (c) and (d). You are required to re-arrange the jumbled parts of the 
sentence and select the correct sequence. 
40. P: his land         

Q: a wooden plough         
R:  the Indian peasant still uses           
S: to cultivate 
The proper sequence should be: 
(a) RQPS (b) QPSR (c) SRQP (d) RQSP 

 

41. P: although his first few attempts  
Q: ultimately he  
R: were futile  
S: succeeded 
The proper sequence should be: 
(a) P R Q S (b) P S Q R (c) S Q R P (d) Q S R P 

 

42. The zoologist says that  
P: having been bitten by them once  
Q: trembled to make a second attempt at catching  
R: the snakes  
S: the snake charmers 
The proper sequence should be: 
(a) P R Q S (b) S Q P R (c) R P Q S (d) P S Q R 

 

ODRERING OF SENTENCES 
Directions:- In the following items, each passage consists of six sentence. The first and the sixth 
sentence are given starting with S1 and ending at s6. The middle four sentence in ach have been 
removed and removed and jumbled up. These are laballed P, Q, R and S. You are required to find out 
the proper sequence of the four sentences and mark your response according on the Answer Sheet.    
43. S1:  Every magnet has a magnetic field. 

 P:  You can identify the poles by suspending a magnet from a string.  
 Q:  This is the force that makes the magnet pick up iron pins. 
 R: Each magnet has a North Pole and a South Pole. 
 S: It also makes magnets pull or push on each other. 
 S6: It turns until the North Pole faces north and the South Pole faces south.  

The proper sequence should be: 
(a) Q S R P (b) Q S P R (c) S R P Q (d) S Q P R 

 

44. S1: Our dog Zaida has the habit of roaming freely in the neighbourhood. 
P: On one occasion we couldn’t find her despite searching for her for a long time. 
Q: Then we asked our neighbour about it. 
R: Usually, when we cannot find her close by we take our mini truck and go in search of 

her. 
S: We find her in a few minutes, usually. 
S6: ‘Isn’t that your dog?’ he said pointing to the dog in our truck. 
The proper sequence should be: 
(a) QSPR (b) PRQS (c) RSPQ (d) RPSQ 
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45. S1: There was once a king in India. 
P: The captain of the king’s army wanted the kingdom for himself. 
Q: He died leaving three sons. 
R: The eldest of the three sons would have become the king. 
S: So he drove the three sons away and took everything in the kingdom in his possession.  
S6: The three sons did not know what to do and where to go. 
The proper sequence should be: 
(a) PRQS (b) PSQR (c) QSPR (d) QRPS 

 

COMPREHENSION 
Direction:- In this section, there is one short passage. After the passage, you will find a few questions 
each based on what is stated or implied in the passage. First read the passage and then answer the 
questions following it. 
 One of the most serious problems confronting our country is that of a fast-growing 

population. In fact, it is at the root of many other problems. At the moment, Thanks to 
planning, we are able to produce food and cloth sufficient for our people and even in some 
excess. But if the population continues to grow at this rate, it will not be long before the 
surplus turns into a bare minimum and even a deficit. The position in regard to 
accommodation is even now far from satisfactory in spite of our efforts. 

46. At present Indians have 
(a) more provision for cloth than 

accommodation  
(b) more provision for accommodation than 

cloth 
(c) abundance of cloth and accommodation (d) scarcity of cloth and accommodation 

 

47. If the population of India continues to increase at this rate, the situation in regard to food and 
cloth 
(a) is likely to remain the same (b) is likely to become less satisfactory 
(c) is likely to improve (d) is likely to very up and down 

 

48. “It is at the root of many other problems” means that 
(a) it is found along with many other 

problems 
(b) it is caused by many other problems 

(c) it gives rise to many other problems (d) it is buried under many other problems 
 

49. The situation in respect of accommodation 
(a) is less than satisfactory (b) is quite satisfactory 
(c) is improving rapidly (d) is the result of total neglect 

 

50. The present satisfactory position in regard to food and cloth is due to 
(a) the fact that the population has been 

controlled 
(b) our good luck 

(c) good rainfall (d) our economic planning 
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PHYSICS 
51. Given that g is a acceleration due to gravity 

and R is the radius of the earth. The 
1

2[g / R]
possesses the dimensions of: 
(a) Orbital speed (b) Angular speed 
(c) Escape velocity (d) Time period 

 

 51. fn;k gS fd g xq#Ùoh; Roj.k gS rFkk R i`Foh dh 

f=T;k gSA 
1

2[g / R]  dh foek fuEu ds leku gS% 
(a) d{kh; osx (b) dks.kh; xfr 
(c) iyk;u osx (d) vkorZ dky 

 

52. The position of a particle moving on a 
straight line path is given by: 
X = 12 + 18t + 9t2 metre. 
Its velocity at t = 2 sec is: 
(a) 84 ms–1 (b) 72 ms–1 

(c) 54 ms–1 (d) 36 ms–1 
 

 52. ljy js[kh; xfr esa d.k dh fLFkfr gS% 
X = 12 + 18t + 9t2  
t = 2 sec ij bldk osx gS% 

(a) 84 ms–1 (b) 72 ms–1 

(c) 54 ms–1 (d) 36 ms–1 
 

53. When we kick a stone, we get hurt. Due to 
which one of the following properties of the 
stone it happens? 
(a) Inertia (b) Velocity 
(c) Reaction (d) Momentum 

 

 53. tc ge ,d iRFkj dks Bksdj ekjrs gSa gesa pksV 
yx tkrk gSA iRFkj ds dkSu ls xq.k ds dkj.k 
,slk gksrk gS\ 
(a) tM+Ro (b) osx 
(c) izfrfØ;k (d) laosx 

 

54. Consider the following figure: 

Po
te

nt
ia

l e
ne

rg
y A C

B D
 

Which of the following labeled point in the 
figure given above indicate unstable state of 
an object: 
(a) Only point A (b) Only point B 
(c) Point A and C (d) Point B and D 

 

 54. 
Po

te
nt

ia
l e

ne
rg

y A C

B D
 

mijksDr fp= esa n'kkZ;s x, dkSu&lk fcUnq fdlh 
fi.M dh vfLFkj voLFkk dks O;Dr djrk gS\ 
(a) dsoy fcUnq A (b) dsoy fcUnq B 
(c) fcUnq A rFkk C (d) fcUnq B rFkk D 

 

55. If the radius of the circular path of particle 
going round the circle is doubled without 
changing its frequency of rotation, then 
centripetal force on it is: 
(a) Halved (b) Unchanged 
(c) Doubled (d) Quadrupled 

 

 55. ;fn d.k dh ?kw.kZu vko`fÙk dks leku j[krs gq, 
bldh oÙ̀kkdkj iFk dh f=T;k nksxquh dj nh 
tk,] rks bl ij vfHkdsUnzh; cy gksxk% 

(a) vk/kk  (b) leku  
(c) nksxquk  (d) ,d pkSFkkbZ  

 

56. A satellite is orbiting around the earth with 
total energy E. What happens to the satellite 
if its kinetic energy is made of 2E? 
(a) Radius of the orbit 

is doubled 
(b) Radius of the orbit 

is halved 
(c) Period of 

revolution is 
doubled 

(d) Satellite escapes 
away 

 

 56. ,d mixzg iF̀oh ds pkjksa vksj dqy ÅtkZ E ls 
?kwe jgk gSA ;fn bldh xfrt ÅtkZ 2E gks tk, 
rks mixzg dk D;k gksxk\ 
(a) d{kh; f=T;k nksxquh 

gks tk,xh  
(b) d{kh; f=T;k vk/kh 

gks tk,xh  
(c) ifjØe.k dky nks 

xquk gks tk,xk  
(d) mixzg iyk;u dj 

tk,xk  
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57. The mean kinetic energy of a mono atomic 
gas molecule is: 

(a) Zero (b) 
1

kT
2

 

(c) kt (d) 
3

kT
2

 
 

 57. ,d v.kqd xSl dh vkSlr xfrt ÅtkZ gksrh gS% 

(a) 'kwU;  (b) 
1

kT
2

 

(c) kt (d) 
3

kT
2

 
 

58. The amount of thermal radiations emitted 
from one square centimeter area of a black 
body in one second when at a temperature of 
1000 K is: 
(a) 5.67 J (b) 56.7 J 
(c) 567 J (d) 5670 J 

 

 58. ';ke fi.M(Black Body) ds ,d oxZ lseh-
{ks=Qy ls 1 lsd.M+ esa mRlftZr rkih; fofdj.k 
dh ek=k tc rkieku 1000 K gSA 

(a) 5.67 J (b) 56.7 J 
(c) 567 J (d) 5670 J 

 

59. A mass of 1 kg is suspended from a spring. 
Its time period of oscillation on the earth is 
T. What will be its time period at the centre 
of the earth? 
(a) Zero (b) T 
(c) 2T (d) Infinity 

 

 59. ,d fdxzkŒ nzO;eku ,d fLizax ls yVdk gqvk 
gSA i`Foh ij bldk nksyu dk vkorZ dky T gSA 
i`Foh ds dsUnz ij bldk vkorZdky gksxk\ 

(a) 'kwU; (b) T 
(c) 2T (d) vuUr 

 

60. The figure shows electric field lines. The 
electric field strength at P1 is E1 and that at 
P2 is E2. If P1 P2 is r, then which of the 
following statement is true? 

 
(a)  (b)  
(c) E2 = E1/r

2 (d) r2E1 
 

 60. fp= eas fo|qr js[kkvksa dks n'kkZ;k x;k gSA P1

fcUnq ij fo|qr {ks= E1 gS vkSj P2 fcUnq ij E2

gS ;fn P1 vkSj P2 ds chp r nwjh gS] rks 
fuEufyf[kr eas dkSu&lk dFku lR; gS\ 

 
(a)  (b)  
(c) E2 = E1/r

2 (d) r2E1 
 

61. According to the Kirchoff’s law the sum of 
the products of current and resistance as well 
as emfs in a closed loop is: 
(a) Greater than zero (b) Zero 

(c) Less than zero
 

(d) Determined by the 
emf 

 

 61. fdjpkWQ ds fu;e ds vuqlkj cUn ifjiFk eas 
/kkjk vkSj izfrjks/kksa ds xq.kk vkSj fo|qr okgd 
cy dk ;ksx cUn ifjiFk esa gksrk gS% 
(a) 'kwU; ls T;knk (b) 'kwU; 

(c) 'kwU; ls de
 

(d) fo|qr okgd cy ls 
Kkr fd;k tkrk gSA 

 

62. A heater is marked 1000 W. The energy 
consumed by it in one hour is: 
(a) 1 J (b) 1 kJ 

(c) 1 kWh
 

(d) 1 Wh 
 

 62. 1000 W ds ,d ghVj }kjk 1 ?k.Vs eas ÅtkZ 
[kir gS% 
(a) 1 J (b) 1 kJ 

(c) 1 kWh
 

(d) 1 Wh 
 

63. What is the energy stored in a 50 mH 
inductor carrying a current of 4A? 
(a) 0.4 J (b) 0.2 J 

(c) 0.1 J (d) 0.05 J 
 

 63. 4A dh /kkjk izokfgr 50mH izsjd esa fdruh 
ÅtkZ lafpr gksrh gS\ 
(a) 0.4 J (b) 0.2 J 

(c) 0.1 J (d) 0.05 J 
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64. The amount of light reaching the retina of 
the eye is controlled by: 
(a) Cornea (b) Pupil 

(c) Iris (d) Ciliary muscle 
 

 64. jsfVuk ij igq¡pus okys izdk'k dh ek=k dks 
larqfyr fd;k tk ldrk gS% 
(a) dkWfuZ;k }kjk  (b) us= dh iqryh }kjk  

(c) vkbfjl }kjk  (d) ek¡l&isf'k;ksa }kjk  
 

65. Light year is the unit of : 
(a) Time (b) Intensity of 

illumination 
(c) Distance (d) Parallax 

 

 65. izdk'k o"kZ buesa ls fdldh bdkbZ gS\ 
(a) le; (b) iznhfIr dh rhozrk 

dk 
(c) nwjh (d) iSjkykDl 

 

66. It is found that a body hangs properly when a 
force of 20N east and another force of 30 N 
north acts on it. What is the magnitude of the 
single force that can do the same? 

(a) 10 N (b) 36 N 
(c) 50 N (d) None of the above 

 

 66. ;g ik;k x;k fd ,d fi.M mfpr :i ls uhps 
dh vksj yVdrk gS tc ,d 20N dk cy iwjc 
fn'kk esa rFkk 30N dk nwljk cy mÙkj fn'kk esa 
vkjksfir gksrk gSA ml ,dy cy dk eku D;k 
gksxk tks mijksDr dk;Z dj ldus esa l{ke gks\ 
(a) 10 N (b) 36 N 
(c) 50 N (d) buesa ls dksbZ ugha 

 

67. Which of the following statement is true for 
the jet plane flying horizontally at very high 
speed? 
(a) Gravity does not 

act on it.
 (b) Upward thrust of 

the air balances 
gravity.

 

(c) Thrust due to the 
gas ejected 
balances gravity.

 

(d) The flow of air 
around the plane 
causes lift that 
balances the 
gravity.

 
 

 67. mPp pky ij {kSfrt fn'kk esa mM+ jgs tsV gokbZ 
tgkt ds fy, fuEu esa dkSu lk dFku lR; gS\ 

(a) bl ij xq:Ro ugha 
yxsxk  

(b) gok dk mRIykou 
xq:Ro dks larqfyr 
dj nsxk  

(c) mRlftZr xSl dk 
mRIykou xq:Ro dks 
larqfyr dj nsrk gS 

(d) tgkt ds pkjksa rjQ 
gok ds izokg dkj.k 
tgkt Åij mBrk 
gS vkSj xq:Ro dks 
larqfyr dj nsrk gS 

 

68. Which of the following statements is false? 
(a) Momentum is 

conserved in all 
types of collisions 

(b) Energy is 
conserved in all 
types of collisions. 

(c) During elastic 
collisions 
conservative forces 
are involved 

(d) Work energy 
theorem is not 
applicable to 
inelastic collisions 

 

 68. fuEufyf[kr esa dkSu lk dFku lgh ugha gS\ 
(a) lHkh rjg ds 

la?kVdksa esa laosx 
lajf{kr jgrk gas 

(b) lHkh rjg ds 
la?kVdksa esa ÅtkZ 
lajf{kr jgrh gS 

(c) izR;kLFk la?kVd esa 
lajf{kr cy Hkkx 
ysrs gSa 

(d) vizR;kLFk la?kVd esa 
dk;Z ÅtkZ izes; dk 
iz;ksx ugh gksrk gSA 

 

69. The radius of gyration of a body is 
independent of: 
(a) mass of the body (b) nature of 

distribution of 
mass 

(c) axis of rotation (d) None of the above 
 

 69.  ?kw.kZu f=T;k fuHkZj ugha djrh% 

(a) fi.M ds nzO;eku ij (b) nzO;eku vkoaVu dh 
izÑfr ij  

(c) ?kw.kZu v{k ij  (d) mijksDr esa dksbZ ugh 
 

70. The distance of the geostationary satellite 
from the centre of the Eearth (radius R) is 
nearest to: 
(a) 5R (b) 6R 
(c) 7R (d) 8R 

 

 70. i`Foh ds dsUnz ls HkwfLFkj mixzg dh nwjh 
gksrh gS% 

(a) 5R (b) 6R 
(c) 7R (d) 8R 
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71. According to which theorem/principle the 
sum of the pressure head, velocity head and 
gravity head is constant? 
(a) Torricelli’s 

theorem 
(b) Bernoulli’s 

theorem 
(c) Arhemedes’ 

principle 
(d) Pascal’s principle 

 

 71. fdl izes; ;k fl)kUr ds vuqlkj nkc 'kh"kZ] osx 
'kh"kZ vkSj xq:Ro'kh"kZ dk ;ksx fu;r jgrk gS\ 

(a) rksjhflyh dh izes;  (b) cjukSyh dh izes;  

(c) vkdZfeMht dk 
fl)kar  

(d) ikLdy dk fl)kar  

 

72. The absorptive power of a perfectly black 
body is: 
(a) more than 1 (b) 1 
(c) less than 1 but not 

zero 
(d) Zero 

 

 72. ';ke fi.M+ dh vo'kksf"kr {kerk gksrh gS% 

(a) 1 ls vf/kd  (b) 1 
(c) 1 ls de ysfdu 

'kwU; ugha  
(d) 'kwU;  

 

73. Two capacitors each of capacitance 10 F are 
connected in series, the capacitance of the 
combination is: 
(a) 0.2 F (b) 5 F 
(c) 10 F (d) 20 F 

 

 73. nks la/kkfj= izR;sd dh la/kkfj= 10 F Js.kh Øe eas 
tqM+s gS] nksuksa dk rqY; la/kkfj= gS% 

(a) 0.2 F (b) 5 F 
(c) 10 F (d) 20 F 

 

74. When the ray of light is incident from denser 
medium having refractive index 2, what 
should be the angle of incidence for the ray 
to go out? 
(a) Less than 30° (b) Less than 45° 

(c) Less than 60° (d) Less than 90° 
 

 74. tc ,d izdk'k dh fdj.k viorZukad 2 okys 
l?ku ek/;e ls vkifrr gksrh gS] rks fdj.k dks 
nwljh rjQ ckgj tkus ds fy, vkiru dks.k 
D;k gksuk pkfg,\ 
(a) 300 ls de  (b) 450 ls de 

(c) 600 ls de (d) 900 ls de 
 

75. If we double the radius of a coil keeping the 
current through it unchanged, what happens 
to the magnetic field on its axis at very 
faraway points? 
(a) Becomes four 

times 
(b) Doubled 

(c) Remains 
unchanged 

(d) Halved 

 

 75. /kkjk dks fu;r j[krs gq, ;fn /kkjk izokfgr 
dq.Myh dh f=T;k nksxquh dj nh tk,] rks 
dq.Myh ds v{k ij nwj ds fcUnq ij pqEcdh; 
{ks= D;k gksxk\ 
(a) pkj xquk gks tk,xk (b) nks xquk gks tk,xk 

(c) fu;r jgsxk (d) vk/kk gks tk,xk 
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CHEMISTRY 
76. The phosphorus used in the manufacture of 

safety matches is: 
(a) red phosphorus (b) black phosphorus 
(c) white phosphorus (d) scarlet phosphorus 

 

 76. fujkin fn;klykb;ksa ¼ls¶+Vh ekfpl½ ds fuekZ.k 
eas iz;qDr QkWLQksjl gS% 
(a) yky QkWLQksjl (b)dkyk QkWLQksjl 
(c) 'osr QkWLQksjl (d) flanwjh QkWLQksjl 

 

77. Most of the mass of the atom can be found 
in: 
(a) electrons (b) Total amount of 

charges 
(c) nucleus (d) electron orbits 

 

 77. ijek.kq dk vf/kdre nzO;eku gksrk gS% 

(a) bysDVªkWuksa esa (b)vkos”k dh lEiw.kZ 
ek=k esa 

(c) ukfHkdh esa (d)bysDVªkWu d{kk esa 
 

78. The pH of fresh milk is 6. When it turns 
sour, the pH: 
(a) becomes < 6 (b) remains the same 

i.e., 6 
(c) becomes > 6 (d) becomes neutral,

i.e., 7 
 

 78. rkts nw/k dk pH 6 gksrk gSA tc bldk Lokn 
[kV~Vk gks tkrk gS rks bldk pH: 
(a) 6 ls de gks tkrk 

gS 
(b)6 ds cjkcj jgrk gS 

(c) 6 ls vf/kd gks 
tkrk gS 

(d)rVLFk ;kfu 7 gks 
tkrk gS 

 

79. The number of valence electrons in the O2– 
ion is : 
(a) 4 (b) 6 
(c) 8 (d) 10 

 

 79. O2– vk;u esa la;ksth bysDVªkWuksa dh la[;k 
gksxh% 
(a) 4 (b)6 
(c) 8 (d)10 

 

80. Which one of the following is not a 
chemical change? 
(a) Ripening of fruits (b) Curdling of milk 
(c) Freezing of water (d) Digestion of food 

 

 80. fuEufyf[kr eas ls dkSu&lk ,d] jklk;fud 
ifjorZu ugha gS\ 
(a) Qyksa dk iduk (b)nw/k dk ngh cuuk 
(c) ty dk fgehdj.k (d)Hkkstu dk ipuk 

 

81. Which one of the following is not a Green 
House Gas? 
(a) Water vapours (b) Methane 
(c) Ozone (d) Carbon Monoxide 

 

 81. fuEufyf[kr esa ls dkSu&lh ,d xzhugkml xSl 
ugha gS\ 
(a) ty ok’i (b)esFksu 
(c) vkstksu (d)dkcZu eksuks 

vkWDlkbM 
 

82. Addition of gypsum to cement: 
(a) reduces setting 

time of cement 
(b) produces very 

light colour 
cement 

(c) increases setting 
time of cement 

(d) shining surface is 
formed 

 

 82. lhesUV esa ftIle dk la;kstu% 
(a) lhesUV ds vkn`<+u 

le; dks de djrk 
gS 

(b)vR;f/kd gYds jax 
dk lhesUV cukrk gS 

(c) lhesUV dk vkǹ<+u 
le; c<+krk gS 

(d)pedhyh lrg 
cukrk gS 

 

83. Sodium stearate is a salt and is used: 

(a) in gunpowder (b) in paint 
(c) to make soap (d) to make fertilizer 

 

 83. lksfM;e LVh;jsV ,d yo.k gS ftldk iz;ksx 
djrs gSa% 
(a) xu ikmMj esa (b)is.V fuekZ.k esa 
(c) lkcqu fuekZ.k esa (d)moZjd ds mRiknu 

esa 
 

84. Optical glass used in the construction of 
spectacles is: 
(a) flint glass (b) Crookes glass 
(c) quartz glass (d) hard glass 

 

 84. p”eksa esa iz;ksx fd;k tkus okyk n`”; ysUl gS% 

(a) f¶yaV Xykl (b)Øwd Xykl 
(c) DokVZt Xykl (d)l[r Xykl 
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85. Which one of the following is water gas? 

(a) Mixture of carbon 
monoxide and 
hydrogen 

(b) Mixture of carbon 
monoxide and 
nitrogen 

(c) Mixture of carbon 
dioxide and water 
vapour 

(d) Mixture of carbon 
monoxide and 
water vapour 

 

 85. fuEufyf[kr eas ls dkSu&lk ,d] 
Hkki&vaxkj&xSl gS\ 
(a) dkcZu eksuksDlkbM 

vkSj gkbMªkstu dk 
feJ.k 

(b)dkcZu eksuksDlkbM 
vkSj ukbVªkstu dk 
feJ.k 

(c) dkcZu MkbvkWDlkbM 
vkSj ty&ok"i dk 
feJ.k 

(d)dkcZu eksuksDlkbM 
vkSj ty&ok"i dk 
feJ.k 

 

86. A mixture of sodium chloride and 
naphthalene can be separated by: 
(a) extraction with hot 

water 
(b) extraction with 

cold water 
(c) sublimation (d) steam distillation 

 

 86. uSiFkkfyu rFkk lksfM;e DyksjkbM ?kksy dks 
vyx&vyx fd;k tk ldrk gS% 
(a) xeZ ikuh ls 

fu’d’kZ.k 
(b)BaMs ty ls 

fu’dklu 
(c) mRlknu (d)ok’i vklou }kjk 

 

87. Which one among the following is the 
chemical formula of gypsum which is an 
ingredient to cement? 
(a) Ca2SiO4 (b) CaSO4.2H2O 

(c) CaO (d) CaSO4.3H2O 
 

 87. lhes.V esa feyk, tkus okys vi?kVd ds :i esa 
ftIle dk jlk;fud lw= D;k gS\ 

(a) Ca2SiO4 (b)CaSO4.2H2O 

(c) CaO (d)CaSO4.3H2O 
 

88. Graphite is a much better conductor of heat 
and electricity than diamond. This is due to 
the fact that each carbon atom in graphite: 
(a) undergoes sp2 

hybridization and 
forms three sigma 
bonds with three 
neighbouring 
carbon atoms 

(b) undergoes sp3 
hybridization 

(c) is tetrahedrally 
bonded 

(d) is free from van 
der Waals force 

 

 88. ghjs dh vis{kk xzsQkbV Å’ek vkSj fo|qr dk 
cgqr vPNk pkyd gSA ;g bl rF; ds dkj.k 
gS fd xszQkbV esa izR;sd dkcZu ijek.kq% 
(a) SP2 ladj.k ls 

xqtjrk gS vkSj rhu 
fudVorhZ dkcZu 
ijek.kqvksa ds lkFk 
rhu flXek vkca/k 
cukrk gSA 

(b)SP3 ladj.k ls 
xqtjrk gS 

(c) prq’Qydh; 
vkcaf/kr gksrk gS 

(d)okUMj okYl cy ls 
eqDr gksrk gS 
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BIOLOGY 
89. Carbon and energy requirements of 

autotrophic organisms are fulfilled by: 
(a) Photosynthesis (b) Gluconeogenesis 

(c) Glycogenesis (d) External sources 
 

 89. Loiksf’kr thoksa dk dkcZu vkSj ÅtkZ dh 
vko”;drk,a fdlds }kjk iwjh gksrh gSa\ 
(a) izdk”k la”ys’k.k (b) Xywdksl uotuu 

¼Xywdksfuvkstsusfl
l½ 

(c) XykbdkstuksRifRr 
¼Xykbdkstsusfll½ 

(d) cká L=ksr 

 

90. Guttation is 
(a) movement of 

soluble organic 
materials through 
plants. 

(b) movement of 
water through the 
apoplast  

(c) evidence of root 
pressure 

(d) negative pressure 
created by 
transpiration  

 

 90. fCkUnqlzko gS& 
(a) ?kqyu”khy tSfod 

inkFkksZa dk ikniksa ds 
Hkhrj lapkyu  

(b) viyodksa ls gksdj 
ty dk izlj.k 

(c) tM+ nCkko ds izek.k (d) ok’iksRltZu ds 
}kjk mRiUu 
udkjkRed nkoA 

 

91. Pressure of blood is high in  
(a) arteries  (b) veins 
(c) capillaries (d) nerves 

 

 91. :f/kj nkc mPp gksrk gS\ 
(a) /kefu;ksa esa  (b) f”kjkvksa esa  
(c) dksf”kdkvksa esa  (d) Luk;q esa 

 

92. Micronutrients are 
(a) available in the 

soil only in 
smallamounts  

(b) required by plants 
in small amounts 

(c) small molecule 
required by plants 

(d) useful but not 
required by plants 

 

 92. lw{e iks’kd rŸo@rŸoksa  
(a) e`nk ds dsoy vYi 

ek=k esa miyC/k 
ik;s tkrs gSA 

(b) ikS/kksa }kjk vYi 
ek=k esa vko”;d 
gksrs gSA 

(c) og y?kq vkdkj ds 
v.kq gksrs gSa ftudh 
ikS/kks esa vko”;drk 
gksrh gSA 

(d) mi;ksxh gSa ijUrq 
ikS/kksa esa bldh 
vko”;drk ugha 
gksrhA 

 

93. Genetic identity of a human male is 
determined by  
(a) Autosomes (b) Nucleolus 
(c) Cell organelles (d) Sex chromosomes 

 

 93. ,d iq:’k dh vuqoka”kdh; igpku dks Kkr 
djrs gSa 
(a) vkVkslkse }kjk (b) U;wfDy;ksyl }kjk 
(c) dksf”kdk vaxksa }kjk (d) ;kSu xq.klw=ksa }kjk 

 

94. Which of the following is not a 
characteristic of prokaryotes? 
(a) DNA (b) cell membrane 
(c) cell wall (d) endoplasmic 

reticulum 
 

 94. buesa ls dkSu izkddsUnzd thoksa dh ,d fo”ks’k 
y{k.k ugha gS\ 
(a) DNA (b) dksf”kdk f>Yyh 
(c) dksf”kdk fHkŸkh (d) vUr% iznO;;h 

tfydk 
 

95. Blood vessels that carries blood away from 
heart are called. 
(a) arteries (b) capillaries 
(c) pulmonary valves  (d) veins 

 

 95. jDr dks ân; ls nwj ys tkus okyh jDr 
ufydkvksa dks dgrs gSa& 
(a) /keuh (b) jDr ufydk;sa 
(c) Qq¶Qql okYo (d) f”kjk,¡ 

 

96. Mammals are— 
(a) warm blooded (b) cold blooded 
(c) Both (a) and (b) (d) None of these 

 

 96. Lruik;h tho gksrs gSa\ 
(a) lerkih tho (b) vlerkih tho 
(c) (a) rFkk (b)nksuksa (d) buesa ls dksbZ ugha 

 

97. In plants, which one of the following gases 
is released during Photosynthesis? 
(a) Carbon dioxide (b) Oxygen 
(c) Hydrogen (d) Methane 

 

 97. ikS/kksa esa izdk”k la”ys’k.k dh fØ;k ds nkSjku 
dkSu lh xSl mRlftZr gksrh gSa\ 
(a) dkcZuMkbZ vkWDlkbM (b) vkWDlhtu 
(c) gkbMªkstu (d) ehFksu 
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98. Which of the following is not a 
micronutrients.  
(a) iron  (b) zinc 
(c) molybdenum (d) magnesium 

 

 98. buesa ls dkSu lw{e iks’kd rŸo ugha gS\ 

(a) yksgk (b) tLrk 
(c) ekyh C;Msue (d) eSXuhf”k;e 

 

99. The term “nuclear envelope” is more correct 
than the term “nuclear membrane” because 
(a) the enclosure has 

pores which 
membranes do not 

(b) the enclosure is 
made up of two 
membranes 

(c) the chemical 
composition is 
inconsistent with 
cellular 
membranes 

(d) None of the above. 
The two terms are 
perfect synonyms. 

 

 99. ukHkdh; vkoj.k “kCn ukHkdh; f>Yyh dh 
vis{kk T;knk lgh gS D;ksafd& 
(a) bl vkoj.k esa fNnz 

lekfgr gksrs gs 
tcfd ukHkdh; 
f>Yyh esa fNnzks dk 
loZFkk vHkko gksrk 
gSA 

(b) vkoj.k nks 
vyx&vyx 
f>Yyh;ksa ls 
fufeZr gksrk gSA 

(c) dks”kdh; f>Yyh;ksa 
dh jklk;fud 
lajpuk lrr ¼,d 
leku ½ ugha gksrhA 

(d) buesa ls dksbZ ugha 

 

100. Blood clotting proteins manufactured by 
liver is classified as  
(a) Fibrinogen (b) Pepsinogen 
(c) Trypsin (d) Amylase 

 

 100. fyoj ¼;—r½ }kjk mRikfnr jDr Lda/ku 
izksVhuksa dks dgk tkrk gS\ 
(a) QkbC;zhukstu (b) isIlhukstu 
(c) fVªfIlu (d) ,ekbysl 
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GENERAL STUDIES 
101. Statement (A): In the Karachi Session of 

Indian National Congress (1931), the 
Gandhi-Irwin Pact was ratified. 
Statement (B): Here for the first time 
Congress had passed a resolution relating to 
Fundamental Rights and National 
Economics programmes. 
Codes:  
(a) Both (A) and (R) 

are true and (R) is 
the appropriate 
explanation of (A). 

(b) Both (A) and (R) 
are true but (R) is 
not the appropriate 
explanation of (A). 

(c) (A) is true but (R) 
is false. 

(d) (A) is false but (R) 
is true. 

 

 101. dFku % Hkkjrh; jk"Vªh; dkaxzsl ds djkph 
vf/kos'ku ¼1931½ esa xk¡/kh&bfoZu le>kSrs  dk 
vuqeksnu fd;k x;k FkkA 
dkj.k % ;gk¡ igyh ckj dkaxzsl us ekSfyd 
vf/kdkjksa vkSj jk"Vªh; vfFkZd  dk;ZØeksa ls 
lEc) izLrko ikfjr fd;k FkkA 
dqV% 
(a) A rFkk R nksuksa lgh 

gSa] rFkk R,A dh 
lgh O;k;k gSA 

(b) A rFkk R nksuksa 
lgh gSa] rFkk 
R,A dh lgh 
O;k[;k ugha gSA 

(c) A  lgh gS] fdUrq R 
xyr gS 

(d) A xyr gS] fdUrq 
R lgh gSA 

 

102. The Gayatri mantra (verses) is mentioned in 
which of the following books?  
(a) Upanishad (b) Bhagawatgeeta 
(c) Rigveda  (d) Yajurveda  

 

 102. xk;=h ea= fdl iqLrd esa feyrk gS\ 

(a) mifu"kn~ (b) Hkxon~xhrk 
(c) _Xosn (d) ;tqosZn 

 

103. Ptolemy Philadelphus with whom, there was 
political relation of Ashoka, was the ruler 
of? 
(a) Sairon  (b) Egypt  
(c) Macdunia (d) Siriya 

 

 103. Vkyseh fQykMsYQl] ftlds lkFk v'kksd ds 
jktu; laca/k Fks] dgk¡ dk 'kkld Fkk \ 

(a) lkbjksu (b) felz 
(c) ednwfu;k (d) lhfj;k 

 

104. Who was the first Sultan on Delhi Sultanate 
who circulated pure Arabian coins called 
'Tanka' and 'Jital'? 
(a) Qutubuddin Aibek (b) Iltumaish 
(c) Muhammad 

Tuglaq 
(d) Balban 

 

 104. fnYyh lYrur dk og dkSu&lk izFke lqYrku 
Fkk ftlus 'kq) vjch flDds ^Vadk^ vkSj 
^thry^ dks tkjh djok;k\  

(a) dqrqcqn~nhu ,scd (b) bYrqfe'k 
(c) eksgEen rqxyd (d) cycu 

 

105. What is the chronological sequence of social 
and humanitarian events of British period? 
    1. Prohibition on Human sacrifice 
    2. Prohibition on Sati Custom 
    3. Prohibition on Infanticide 
    4. Native Marriage Act passed 
    5. Window Remarriage Act passed 
Codes : 
(a) 2, 4, 1, 3 and 5 (b) 3, 1, 2, 4 and 5  
(c) 1, 2, 3, 5 and 4 (d) 3, 2, 1, 5 and 4 

 

 105. fczfV'kdkyhu lkekftd rFkk ekuoh; ?kVukvksa  
dk ?kVukØe D;k gS\ 
   1- ekuo cfy ij jksdA 
   2- lrh izFkk ij jksdA 
   3- ckfydk f'k'kq dh gR;k ij jksdA 
   4- usfVo eSjst ,DV ikl fd;k x;kA 
   5- fo/kok iqufoZokg fo/ks;d ikfjr fd;k  
      x;kA 
dwV% 
(a) 2, 4, 1, 3 vkSj 5 (b) 3, 1, 2, 4 vkSj 5  
(c) 1, 2, 3, 5 vkSj 4 (d) 3, 2, 1, 5 vkSj 4 

 

106. Who was the composer of Kirti pillar 
(sthambha) eulogy ? 
(a) Somdev  (b) Jaita  
(c) Natha  (d) Abhikavi  

 

 106. ^dhfrZ LraHk iz'kfLr* ds jpf;rk Fks& 

(a) lksenso (b) tSrk 
(c) ukFkk (d) vfHkdfo 

 

107. The first English person who visited 
Akbar’s court was? 
(a) Rolf Finch  (b) Sir Thomas Roe 
(c) John Hawking  (d) Peter mundi 

 

 107. vdcj ds njckj esa vkus okyk igyk vaxzst 
O;fDr Fkk& 
(a) jkWYQ fQap (b) lj FkkWel jks 
(c) tkWu gkWfdal (d) ihVj eqaMh 
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108. Which of the following statements about the 
aims of the United nations is/are true ? 
1.  To foster a mutual appreciation of each  
     other's culture and literature among  
     nations 
2.  To achieve international co-operation in  
    solving problems of an economic, social,  
    cultural, or humanitarian character 
3.  To foster relations between scholars      
     and academics in different coutries  
4.  To organize intennational conferences  
Select the correct answer using the code 
given below: 

(a) 1 only (b) 1, 2 and 4 only 
(c) 2 only  (d) 1, 2 and 3 only 

 

 108. la;qDr jk"Vª ds mn~ns';ksa ds ckjs esa 
fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lR; 
gS@gSa\ 
 1- jk"Vªksa ds chp ,d&nwljs dh laLd`fr vkSj  
    lkfgR; ds izfr ijLij leknj fodflr  
     djukA 
 2- vkfFkZd] lkekftd] lkaLd`frd] ;k  
     ekuoh; Lo:Ik okyh leL;kvksa ds  
     lek/kku esa varjkZ"Vªh; lg;ksx izkIr  
     djukA 
 3-  fofHkUu ns'kksa esaa fo}kuksa rFkk f'k{kdksa ds  
     chp lEcU/k fodflr djuk gas 
 4- varjkZ"Vªh; lEesyuksa  dk vk;kstu djukA 
uhps fn, dwV  dk iz;ksx dj lgh mÙkj 
pqfu,% 
(a) dsoy 1 (b) dsoy 1] 2 vkSj 4 
(c) dsoy 2 (d) dsoy 1] 2 vkSj 3 

 

109. The name of Buddhist philosopher who for 
the first time expounded the theory of 
nihilist?  
(a) Nagarjun (b) Nagsen 
(c) Anand  (d) Ashwaghosh  

 

 109. 'kwU;rk ds fl)kUr dk loZizFke izfriknu 
djus okys ckS) nk'kZfud dk uke gS& 
(a) ukxktqZu  (b) ukxlsu 
(c) vkuUn (d) v'o?kks"k 

 

110. Although used earlier by French anf German 
writer, the term 'Industrial Revolution' in 
English was first popularized by  
(a) Adam Smith (b) Arnold Toynbee 
(c) James Mill (d) Bertrand Russell 

 

 110. ;|fi Ýkalhlh vkSj teZu ys[kdksa }kjk 
^bMfLVª;y fjoksY;w'ku^ 'kCn dk iz;ksx igys 
fd;k x;k Fkk] bls vaxzsth esa loZizFke fdlds 
}kjk yksd fiz; cuk;k x;k\    
(a) ,Me fLeFk (b) vkuksZYM VkW;Uch 
(c) tsEl fey (d) cVªsZM jlsy 

 

111. Who among the followings vociferously 
advocated for religious teaching in Indian 
Universities? 
(a) Bal Gangadhar 

Tilak 
(b) Swami 

Vivekanand 
(c) Mahatma Gandhi (d) Madan Mohan 

Malviya 
 

 111. fuEufyf[kr esa ls fdlus Hkkjrh; 
fo'ofo|ky;ksa esa /kkfeZd f'k{kk ds fy, izcy 
:i ls odkyr dh Fkh\ 
(a) cky xaxk/kj fryd (b) Lokeh foosdkuan 
(c) egkRek xka/kh (d) enu eksgu 

ekyoh; 
 

112. Match the following: 
 List-I   List-II 
    (A) August Declaration 1. Montague 
    (B) August Proposal      2. Lord Linlithgo 
    (C) August Resolution  3. M. A. Jinnah 
    (D) Direct Action         4. Mahatma andhi  
Codes: 
(a) A   B   C   D 

1    2    4   3 
(b) A   B   C   D 

1    2    3   4 
(c) A   B   C   D 

1    4    3   2 
(d) A   B   C   D 

4    1    2   3 
 

 112. lqesfyr dhft,& 
 lwph&I        lwph&II 
 (A) vxLr ?kks"k.kk    1- ek.VsX;w 
 (B) vxLRk izLrko    2- ykMZ fyufyFkxks 
  (C) vxLr ladYi    3- ,e- ,- ftUuk 
  (D) izR;{k  dk;Zokgh  4- egkRek xk¡/kh 

(a) A   B   C   D 
1    2    4   3 

(b) A   B   C   D 
1    2    3   4 

(c) A   B   C   D 
1    4    3   2 

(d) A   B   C   D 
4    1    2   3 
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113. Consider the following Statements regarding 
the Union Government : 
1. There is a provision in the Indian  
    Constitution  that all the Cabinet ministers 
    will be compulsorily be members of only   
    Lok Sabha. 
2. The Central Cabinet Secretariat works 
under the direction of Parliamentary Affairs 
Ministry.  
Which of the above statements/ts/ is/are 
true?   
(a) Only 1 (b) Only 2 
(c) 1 and 2 (d) Neighter 1 nor 2 

 

 113. dsUnzh; ljdkj ds lUnHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft, 
  1- Hkkjr ds lafo/kku esa micU/k gS fd leLr 
    dSfcusV ea=h vfuok;Z :i ls dsoy  
    lfpoky; lalnh;  dk;Z ea=ky; ds  
    funs'kk/khu  dk;Z djrk gSA 
  2- dsUnzh; dSfcusV lfpoky; lalnh;  dk;Z 
    ea=ky; ds funs'kk/khu dk;Z djrk gSA 
mijksDr dFkuksa esa ls dkSu&lk@ls lgh 
gS@gS\ 
(a) dsoy 1 (b) dsoy 2 
(c) 1 vkSj 2 (d) u rks 1 vkSj u 

gh 2 
 

114. The salaries and perks of the judges of High 
Court are- 
(a) are paid 

through/from the 
consolidated fund 
of India 

(b) are paid from the 
condolidated fund 
of States. 

(c) are paid from the 
contingency fund 
of India. 

(d) It is paid equally 
from both the 
consolidated fund 
of india and 
consolidated fund 
of the State 

 

 114. mPp U;k;ky; ds U;k;k/kh'kksa ds osru rFkk 
HkRrs  
(a) Hkkjr dh lafpr 

fuf/k ls fn, tkrs 
gSA 

(b) jkT; dh lafpr 
fuf/k ls fn, tkrs 
gSA 

(c) Hkkjr dh vkdfLed 
fuf/k lds fn, tkrs 
FksA 

(d) Hkkjr dh lafpr 
fuf/k rFkk jkT; 
dh lafpr fuf/k ls 
cjkcj&cjkcj fn, 
tkrs gSA 

 

115. Which one of the following rights is 
available only to the citizens within the 
territory of India? 
1. Freedom of Speech.  
2. Right to form Associations or Unions.  
3. Equality before Law. 
4. Freedom to assemble peacefully without 

arms. 
Select the correct answer using the code 
given below: 
(a) 1, 2 and 4 (b) 1, 2, 3 and 4 
(c) 2, 3 and 4 (d) 1, 3 and 4 

 

 115. Hkkjrh; {ks= esa fuEufyf[kr vf/kdkjksa esa dkSu 
,d dsoy ukxfjdksa dks izkIr gS\ 
1- Hkk"k.k dh Lora=rkA  
2- la?k ;k laxBu cukus dh Lora=rkA  
3- dkuwu ds le{k lerkA 
4- 'kkL=&foghu 'kkafriwoZd ,d= gksus dh 

Lora=rkA  
uhps fn;s x;s dwV dk iz;ksx dj lgh mÙkj 
pqfu;s% 
(a) 1] 2 ,oa 4 (b) 1] 2] 3 ,oa 4 
(c) 2] 3 ,oa 4 (d) 1] 3 ,oa 4 

 

116. Mount Etna is  
(a) A mountain  (b) A peak  
(c) A volcano  (d) A plateau  

 

 116. ekmaV ,Vuk gS  
(a) ,d ioZr  (b) ,d ioZr f'k[kj  
(c) ,d Tokykeq[kh  (d) ,d iBkj  

 

117. Which of the following is a cold current in 
south Atlantic ocean? 
(a) Canary current  (b) Benguella current  
(c) Agulhas current  (d) Brazil current  

 

 117. fuEufyf[kr esa ls dkSu&lh nf{k.k vVykafVd 
egklkxj dh 'khry /kkjk gS \  
(a) dukjh /kkjk (b) casxqyk /kkjk 
(c) vxqygkl /kkjk (d) czkthy /kkjk 

 

118. The highest temperature on the earth is 
recorded at  
(a) Equator  (b) 100 N Latitude  
(c) 200 N Latitude  (d) 250 N Latitude  

 

 118. i`Foh ij mPpre rkiØe fjdkMZ fd, tkrs gSa 
(a) Hkwe/; js[kk ij (b) 100 mŸkjh v{kka'k 

ij 
(c) 200 mŸkjh v{kka'k 

ij 
(d) 250 mŸkjh v{kka'k 

ij 
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119. In the month of June, which of the following 
places have longest duration of day ? 
(a) Hydrabad  (b) Chennai  
(c) Bhopal (d) Delhi  

 

 119. twu ekg esa] fuEu LFkkuksas esa ls dgk¡ ij fnu 
dh vof/k vf/kdre gksxh \  
(a) gSnjkckn (b) psUubZ  
(c) Hkksiky (d) fnYyh  

 

120. Which is the highest peak in Andaman and 
Nicobar Island groups ? 
(a) Saddle peak  (b) Mt. Thuilar  
(c) Mt. Diyovalo (d) Mt. Koyel  

 

 120. vaMeku vkSj fudksckj }hi lewg esa lcls 
vf/kd Å¡pkbZ okyh pksVh dkSu&lh gS \ 
(a) lSMy ihd  (b) ekmUV FkqbYyj 
(c) ekmUV fn;ksokyks (d) ekmUV dks;sy 

 

121. Where is the Croatia located in ? 
(a) Adriatic Sea (b) Mediterranean Sea 

(c) Atlantic Ocean (d) Pacific Ocean  
 

 121. Øksfl;k ns'k dgk¡ ij fLFkr gS \ 
(a) ,fMª;kfVd lkxj  (b) Hkwe/; lkxj  
(c) vVykafVd 

egklkxj 
(d) iz'kkar egklkxj 

 

122. Alabama State is located near the?  
(a) Gulf of Mexico (b) Mediterranean Sea 
(c) Red Sea (d) Black Sea 

 

 122. vYkckek jkT; dh fLFkfr gS \ 
(a) eSfDldks dh [kkM+h  (b) Hkwe/; lkxj  
(c) yky lkxj (d) dkyk lkxj 

 

123. Which of the following regions of India do 
not comes in the ring of high intensity 
Earthquakes  
(a) Uttrakhand (b) Karnataka Palteau 
(c) Kachchh (d) Himanchal 

Pradesh  
 

 123. Hkkjr dk fuEufyf[kr esa ls dkSu&lk {ks= 
mPp rhozrk dh HkwdEih; es[kyk esa ugha    
vkrk gS \ 
(a) mŸkjk[kaM (b) dukZVd iBkj 
(c) dPN (d) fgekpy izns'k  

 

124. Which soil particles are found in loamy 
soil?  
(a) Sand  (b) Silt  
(c) clay  (d) All type of 

Particles  
 

 124. nkseV feV~Vh esa feV~Vh dk dkSu&lk d.k 
feyrk gS \ 
(a) ckyw d.k  (b) fpduk d.k 
(c) ika'kq d.k (d) lHkh izdkj ds 

d.k  
 

125. Which State is the largest silk producing 
state?  
(a) Bihar  (b) Chhattisgarh  
(c) Karnataka  (d) Asom  

 

 125. dkSu&lk jkT; lokZf/kd js'ke iSnk djus okyk 
jkT; gS \ 
(a) fcgkj (b) NŸkhlx<+ 
(c) dukZVd (d) vle 

 

126. Which of the following is not a port 
city ? 
(a) Tokyo  (b) Canberra  
(c) Newyork  (d) London  

 

 126. fuEufyf[kr esa ls dkSu ,d iÙku uxj    
ugha gS\ 
(a) VksD;ks (b) dSucjk 
(c) U;w;kWdZ  (d) yUnu 

 

127. The ruler of which of the following state 
was dethroned on the ground of bad 
governance by the British? 
(a) Awadh (b) Jhansi 
(c) Nagpur (d) Satara 

 

 127. fczfV'k }kjk dq'kklu © cgkuk ysdj] 
fuEufyf[kr izkarksa esa ls fdl ,d © 'kkld 
gVk fn;k x;k Fkk\ 
(a) vo/k (b) >kalh 
(c) ukxiqj (d) lrkjk 

 

128. Simon Bolivar and Miguel Hidalgo, leaders 
of Latin American Independence 
Movements, were inspired by successful 
revolutions in: 
(a) The United States 

and France 
(b) The Soviet Union 

and China 
(c) Cuba and Costa 

Rica 
(d) Egypt and Kenya 

 

 128. ySfVu vesfjdh Lora=rk laxzke ds usrk 
^lkbeu cksfyoj* vs. fety fgMkYxksa fdl 
Øk¡fr ls izsfjr Fks\  
(a) la;qä jk"Vª Ýk¡l  (b) lksfo;r ;wfu;u 

vkSj phu  
(c) D;wck vkSj 

dksLVkfjdk  
(d) felz vkSj dsU;k  
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129. Who among the following was the leader of 
the revolt of 1857 in Assam? 
(a) Diwan Maniram 

Dutt 
(b) Kandpeshwar 

Singh 
(c) Purander Singh (d) Piyali Barua 

 

 129. fuEufyf[kr esa ls dkSu vle esa 1857 dh 
ØkfUr dk usrk Fkk\ 
(a) nhoku efujke nRr (b) danis'oj flag 

(c) iqjanj flag (d) fi;kyh c#vk 
 

130. Hagri is a tributary of  
(a) Bhima  (b) Godavari 
(c) Krishna (d) Tungabhadra  

 

 130. gxjh lgk;d unh gS  
(a) Hkhek dh  (b) xksnkojh dh  
(c) d`".kk dh  (d) raqxHknzk dh  

 

131. Which of the following has power to 
determine the conditions regarding 
citizenship rights? 
(a) Election 

Commission 
(b) Parliament 

(c) President  (d) Jointly with the 
Parliament and 
State legislatures. 

 

 131. ukxfjdrk izkIr djus ls lEcfU/kr 'krsZ 
fu/kkZfjr djus  dk vf/kdkj fdlds ikl gS\ 

(a) pquko vk;ksx (b) laln 
(c) jk"Vªifr (d) laln rFkk jkT; 

fo/kku lHkkvksa ds 
ikl la;qDRk :i 
ls  

 

132. Match the following : 
 List-I   List-II 
   (A) Right to Equality      1. Article 14 - 18 
   (B) Right of freedom      2. Article 25 
         of speech  
   (C) Right to freedom      3. Article 32  
         of religion 
   (D) Right of Constituti   4. Article 19  
          -onal Remedies 
Code : 
(a) A   B   C   D 

1    3    2   4        
(b) A   B   C   D 

2    4    1   3 
(c) A   B   C   D 

1    4    2   3 
(d) A   B   C   D  

2    3    1  4 
 

 132. lqesfyr dhft, 
 lwph&   lwph& 
 (A) lerk  dk vf/kdkj  ¼1½ vuqPNsn 14&18 
 (B) okd~ Lokra«; vf/kdkj ¼2½ vuqPNsn 25 
 (C) /keZ dh Lora=rk  dk ¼3½ vuqPNsn 32 
    vf/kdkj 
 (D) laoS/kkfud mipkjksa   ¼4½ vuqPNsn 19  
    dk vf/kdkj 
dwV% 

(a) A   B   C   D 
1    3    2   4        

(b) A   B   C   D 
2    4    1   3 

(c) A   B   C   D 
1    4    2   3 

(d) A   B   C   D  
2    3    1  4 

 

133. Who appoints the Protem Speaker 
(Temporary Speaker) of Lok Sabha. 
(a) President  (b) Vice-President 
(c) Current Speaker of 

lok Sabha 
(d) Election 

Commission 
 

 133. vLFkkbZ yksdlHkk/;{k ¼izksVse Lihdj½ dks dkSu 
fu;qDr djrk gS\ 
(a) jk"Vªifr (b) mijk"Vªifr 
(c) fuoZreku 

yksdlHkk/;{k 
(d) fuokZpu vk;ksx 

 

134. Rajya Sabha and Lok Sabha have same 
power in which functional domain ? 
(a) On the subject of 

Constitutting new 
All India Service . 

(b) OPn the subject of 
Constitutional 
Amendment. 

(c) On the issue of 
removal of 
Government.  

(d) On the subject of 
tabling cut motion 
in Parliament. 

 

 134. jkT;lHkk vkSj yksdlHkk dh leku 'kfDr;k¡ 
fdl {ks= esa gS\ 
(a) ubZ vf[ky Hkkjrh; 

lsok,¡ xfBr djus 
ds fo"k; esa 

(b) lafo/kku la'kks/ku 
djus ds fo"k; esa 

(c) ljdkj gVkus ds 
fo"k; esa  

(d) dVkSrh izLrko 
izLrqr djus ds 
fo"k; esa  

 

135. One Astronomical unit is the average 
distance between.  
(a) Earth and Sun  (b) Earth and Moon 

(c) Jupiter and Sun (d) Mars and Sun  
 

 135. ,d [kxksyh; ,dd (One Astronomical 
Unit) vkSlr nwjh gS  
(a) i`Foh vkSj lw;Z ds 

chp dh 
(b) i`Foh vkSj pUnzek 

ds chp dh  
(c) c`gLifr vkSj lw;Z 

ds chp dh  
(d) eaxy vkSj lw;Z ds 

chp dh  
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136. Match List-I with List-II and select the correct 
answer using the code given below the Lists: 
    List-I       List-II  
(Tributary)  (Main Rivers) 
A. Chambal  1. Narmada 
B. Sone  2. Yamuna 
C. Manas  3. Brahmputra  
Which of the pairs given above is/are 
correctly matched? 
(a) 1, 2 and 3 (b) 1 and 2 
(c) 2 and 3 (d) Only 3 

 

 136. lwph-I dks lwph-II ls lqesfyr dhft, vkSj 
lwfp;ksa ds uhps fn, x, dwV dk iz;ksx dj lgh 
mÙkj pqfu,% 
   lwph&I    lwph&II 
¼lgk;d unh½  ¼eq[; unh½ 
A. pEcy   1- ueZnk  
B. lksu   2- ;equk  
C. ekul   3- czãiq=  
mijksDr fn, x, ;qXeksa esa dkSu lk ;qXe lgh 
lqesfyr gS\ 
(a) 1] 2] vkSj 3 (b) 1 vkSj 2 
(c) 2 vkSj 3 (d) dsoy 3 

 

137. Consider the following statements: 
1. River Kosi originates in Tibet. 
2. Sharda is a tributary of Ghaghara. 

Which of the statement(s) given above is/are 
correct? 
(a) Only 1 (b) Only 2 
(c) Both 1 and 2 (d) None of these 

 

 137. fuEufyf[kr dFkuksa ij fopkj dhft,% 
1- dkslh unh dk mn~xe frCcr esa gksrk gSA 
2- 'kkjnk unh ?kk?kjk dh lgk;d unh gSA 
buesa ls dkSu lk@ls dFku lR; gSa@gSa\ 

(a) dsoy 1 (b) dsoy 2 
(c) 1 vkSj 2 nksuksa  (d) buesa ls dksbZ ugha 

 

138. Which type of forests are found near 
equator?   
(a) Deciduous forest  (b) Coniferous forest  
(c) Grarrland forest  (d) Tropical forest  

 

 138. Hkwe/;js[kk ds fudV fdl rjg ds ou ik, 
tkrs gSa \ 
(a) ir>M+h ou (b) 'kadq/kkjh ou 
(c) ?kkl LFky ou (d) m".kdfVca/kh; ou 

 

139. As per census 2011, which state among the 
following states has largest population 
density 
(a) Bihar  (b) Uttar Pradesh  
(c) Punjab  (d) Kerala  

 

 139. tux.kuk 2011 ds vuqlkj fuEufyf[kr esa ls 
fdl jkT; dk tula[;k ?kuRo lokZf/kd gS \ 
(a) fcgkj  (b) mŸkj izns'k  
(c) iatkc  (d) dsjy  

 

140. Which of the following is the north to south 
sequence of the given mountain ranges?    
(a) Zaskar range, 

Pirpanjal range, 
Laddakh range, 
Karakoram range  

(b) Pirpanjal range, 
Zaskar range, 
Ladakh range, 
Karakoram range  

(c) Karakoram range, 
Laddakh range, 
Zaskar range, 
Pirpanjal range  

(d) Pirpanjal range, 
Laddakh range, 
Zaskar range, 
karakoram range  

 

 140. fuEufyf[kr esa ls mŸkj ls nf{k.k fn'kk dh 
vksj ds Øe okyh ioZr Js.kh dkSu&lh gS \ 
(a) tkLdj ioZr Js.kh] 

ihjiatkc ioZr 
Js.kh] yÌk[k ioZr 
Js.kh] dkjkdksje 
ioZr Js.kh  

(b) ihjiatky ioZr 
Js.kh] tkLdj 
ioZr Js.kh] yÌk[k 
ioZr Js.kh] 
dkjkdksje ioZr 
Js.kh  

(c) dkjkdksje ioZr 
Js.kh] yÌk[k ioZr 
Js.kh] tkLdj ioZr 
Js.kh] ihjiatky 
ioZr Js.kh  

(d) ihjiatky ioZr 
Js.kh] yÌk[k ioZr 
Js.kh] tkLdj 
ioZr Js.kh] 
dkjkdksje ioZr 
Js.kh  

 

141. Which of the following is not correctly 
matched? 
(a) Shipkila-Himachal 

Pradesh  
(b) Lipulekh-Uttar 

Pradesh  
(c) Nathula-Sikkim (d) Jojla-Jammu and 

Kashmir  
 

 141. fuEufyf[kr esa ls dkSu lqesfyr ugha gS \ 

(a) f'kidh         
yk& fgekpy izns'k 

(b) fyiq ys[k&mŸkj 
izns'k 

(c) ukFkw yk& flfDde  (d) tksthyk& tEew 
vkSj d'ehj 
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142. Terrace farming is done: 
(a) on the scope of 

hills 
(b) in dry regions 

(c) on root tops (d) on mountain tops 
 

 142. lh<+huqek [ksrh dh tkrh gS% 
(a) igkM+h dh <+ky ij  (b) 'kq"d {ks= esa  
(c) Åijh pksVh ij  (d) igkM+ ds Åijh 

Hkkx ij  
 

143. Consider the following crops:  
1. Cotton   2. Groundnut 
3. Rice   4. Wheat 
Which of these are Kharif crops? 
(a) 1 and 4 (b) 2 and 3 
(c) 1, 2 and 3 (d) 2, 3 and 4 

 

 143. fn, x, Qlyksa ij fopkj dhft,% 
1- dikl   2- ewaxQyh  
3- pkoy   4- xsgw¡ 
buesa ls [kjhQ dh Qly dkSu lh gS\ 
(a) 1 vkSj 4 (b) 2 vkSj 3 
(c) 1] 2 vkSj 3 (d) 2] 3 vkSj 4 

 

144. The area of India is 2.4 % of world’s  area, 
but it  
(a) Population is 16% 

of the total human 
race  

(b) Population is 
17.5% of the total 
human race  

(c) Population is 20% 
of the total human 
race  

(d) Population is 28% 
of the total human 
race 

 

 144. Hkkjr dk {ks=Qy lalkj ds {ks=Qy dk 2.4%
gS] ijUrq bldh  
(a) tula[;k lEiw.kZ 

ekuo tkfr dk 
16% gSA  

(b) tula[;k lEiw.kZ 
ekuo tkfr dk 
17.5% gSA  

(c) tula[;k lEiw.kZ 
ekuo tkfr dk 
20% gSA  

(d) tula[;k lEiw.kZ 
ekuo tkfr dk 
28% gSA  

 

145. World heritage day observed on : 
(a) 18th April (b) 17th April 
(c) 16th April (d) 21 th April 

 

 145. fo”o /kjksgj fnol dc euk;k tkrk gS \ 
(a) 18 vizSy (b) 17 vizSy 
(c) 16 vizSy (d) 21 vizSy 

 

146. Recently Indian navy launches               
INS-IMPHAL.  
INS - IMPHAL is: 
(a) An Aircraft 

Carrier 
(b) Glided missile 

destroyer 
(c) A Patrol Vessels (d)  A Submarine 

 

 146.  Hkkjrh; ukSlsuk us gky esa INS &IMPHAL ;q) iksr dk 
ty&vorj.k fd;kA 
INS-IMPHAL gS% 
(a) ,d foeku okgd 

iksrA 
(b) funsZf”kr iz{ksikL= 

fo/oald 
(c) ,d xLrh ty ;ku (d) ,d iuMqch 

 

147. Which of the following cricketer not listed 
in which cricketer of the year 2019. 
(a) Sam  Curran  (b) Jos Butteler 
(c) Virat Kohli (d) Rohit Sharma 

 

 147. buesa ls fdl fdzdsVj dk uke * fotMe 
fdzdsVj vkWQ n bZ;j* 2019 esa lwphc) ugh 
fd;k x;k \ 
(a) lSe dqjju (b) tkWl cVyj 
(c) fojkV dksgyh (d) jksfgr “kekZ 

 

148. Consider the following statement about 
Earth day  
1. Earth day observation 22 nd April  
2. The 2019 theme of earth day is protect 

our species 
3. Earth day is observed since 1980 which 

is /are correct? 
(a) Only 1 (b) 1 and 2 
(c) 2 and 3 (d) 1,2 and 3 

 

 148. **i`Foh fnol** ds laca/k esa fuEufyf[kr dFkuksa 
ij fopkj djsa %& 
1. i`Foh fnol dk vk;kstu 22 vizSy dks 
fd;k tkrk gSA 
2. i`Foh fnol ij o’kZ 2019 dh fo’k; oLrq 
gS& **viuh tho iztkfr;ksa dh j{kk djsa**A 
3. i`Foh fnol dk vk;kstu o’kZ 1980 ls 
euk;k tk jgk gSA 
mijksDr dFkuksa esa ls dkSu lk dFku lR; gS\ 
(a) dsoy 1 (b) 1 rFkk 2 
(c) 2 rFkk 3 (d) 1]2 ,oa 3 

 

149. The Saraswati Samman of 2018 awarded to 
which of the following? 
(a) K. Siva Reddy (b) Kedar Nath Singh 
(c) Dudh Nath Singh (d) Rana Das gupta 

 

 149. o"kZ 2018 dk ^ljLorh* lEeku buesa ls fdl 
O;fDr dks iznku fd;k x;k \ 
(a) ds flok jsM~Mh (b) dsnkj ukFk flga 
(c) nw/k ukFk flga (d) jk.kk nkl xqIrk 
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150. Global water summit 2019 held in which 
city? 
(a) Londan  (b) New Yark 
(c) New Delhi (d) Berlin 

 

 150. oaSf”od ty f”k[kj lEEksyu 2019 dk vk;kstu fdl “kgj 
'kgj esa fd;k Xk;k ? 

(a) yUnu (b) U;w;kdZ 
(c) ubZ fnYyh (d) CkfyZu 
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